ROYAL HIGH SCHOOL FP CRICKET CLUB SEASON 1946

1st X1

R.H.	S. F.P. CC.					1	946
APR. 20	MURRAYFIELD	н	139	10*	83	10	w
20	CARRICK KNOWE	н	137	7	147	10*	D
27	DUNFERMLINE	A	110	10	143	6*	L
MAY 4	GEO. HERIOT'S F.P.	н	91	10*	96	7	L
- 11	LEITH FRANKLIN	н	133	9	175	10*	D
18	GRANGE - ACADEMICALS	н	126	5	212	6*	D
20	POLOC	A	139	8*	77	10	~
25	MEWILLE COLLEGE EP.	н	168	8*	104	10	~
1 .2006	EDIN. CITY PONCE	н	127	5	81	10*	w
- 8	WATSONIANS	н	158	8*	159	7	L
15	EDIN . UNIVERSITY	A	79	3	77	10*	W
22	STEWART'S COLL. F.P.	A	168	10*	107	4	D
29	CARLTON			•			OFF
JULY 6	SELKIRK	A	134	7	191	7*	D
- 13	ST. BOSWELLS	A	150	9*	127	4	D
2.0	R. H. S. P.P.	н	174	9	87	10*	~
25	QUEEN'S UNIV.	H 2	6 117	10*	123	1	L
27	STENHOUSEMUIR	н	149	1	125	10*	w
Aug 3	KIRKCALDY	H 2	6 146	6*	109	6	D
10	DRUMPELLIER	A	38	10 *	26	10	w
17	BRUNSWICK	н	145	9	143	10*	w
24	PERTHSHIRE	н	60	10	136	7*	L
-	TRINITY ACADS.			·		•	OFF
	P. 21 W. 9	D. 7	L.5	0.2			
R.H.	5. F.P : 2688	vans :	164 wich	ets : a	werage 1	6.39	
OPPON	VENTS : 2528	vins :	165 wick			5.32	
RHS.	FP : 8.64	C .72	LB10.16 ST.	7 RO.5	164		
OPPONET	NTS : B.66	c · 68	1. Bro. 15 ST.	8 Ro.8	165		

R.H.S. F.)46	
R.W. BARKER	2	2	0	5	5	2.50	- And		71	24.2	A.0	Т
T.W.L.BELL	9	6	2.	20	76	19.00	.LA		- 79	and Sw	100	5
J. BEVERIDGE	1	1	0	1	I	1.00	and a					
JB. BROWN	9	6	1	10	27	5.40	5	3	60 5	0	ec	1.
S.H. CRUDEN	3	3	0	26	33	11.00	17	2	72	7	10.28	1
P.F. CURR	7	6	2	49	76	19.00	4	0	26	0	oc	2
D.J. DONALD	11	11	1	49	235	23.50	1024	17	263	12	21.91	2
J.M. DUNLOP	-1					•	33	0	- 11	1	11-00	
H.C. FRASER	1		0	9	9	9.00	2018					
B.W.K. GIBBONS	2			•								
R. GRAHAM	4	4	0	15	19	4.75	ind		61-2			
J.S.T. HENDERSON	6	4	2		24	12.00	27	1	102	In local	102-00	
H. HILLIARD	L					10.0	mind		4.60			
P.F. HUTTON	2	2	0	10	12	6.00	4	0	11	0	oc.	2
MMH. INGLIS	7	7	з	19*	49	12.25						
R.M. JOHNSTON	2	1	1	6*	6	6.00						
D.R. LAWRENCE	1		1	17*	17	17.00	6	1	19	1	19.00	
J. LIPETZ	1	1	0	1	1	1.00	2	1	6	0	ac.	
J.L. LYON	9	7	4	8*	24	7.00	502	н	110	7	15.71	
FJR. MANDERS	1		0	2	2	2.00						1
JB. MICHIE	13	10	Ð	46	112	11.20	954	14	260	25	10.40	1
JCM. MILLAR	2	2	0	16	20	10.00	9	3	16	2	8.00	
R. MITCHELL	1	1	0	7	7	7.00						
FA. MORRIS	1		0	8	8	8.00						1
J. MORRISON	16	13	0	32	160	12.31	404	7	105	8	13.12	5
RD. MURRAY	3		0	8	8	8.00	6'	1	16	3	5.33	1
A. RITCHIE	15	11	1	21	87	8.70	343	6	79	5	15-80	
RR. ROSS	1	1	1	*ر		1.00						
GA. SMITH	19	19	1	72	411	22.83	14	5	32	1	32.00	7
LJ. STONEHOUSE	1	1	1	3*	3	3.00	6	1	15		15.00	1
F.O. THOMAS	20	19	3	47	316	19.75	161'	22	477	35	13.62	10
AMC. THORBURN	19	15	3	27	167	13.91	1982	27	665	42	15-83	7
JC. WALKINGSHAW	19	17	2	26	143	9.53						16+
WB . WILLDER	6	6	1	17	28	5.60	3	0	12	1	12.00	
EW. WILSON	15	14	I	89*	473	36.38	122	1	64	5	12.80	3
SUB.												

22	G.A. 5	imith	72	٧.	Grange - Acads .		3	0	1	1		- 30%	54	8 h	. 2	
2	E.W. V	Vilson	75	v.	Mel. Coll. EP .		. 20	2		e		1	1.9.8		1.7	
			75	٧.	Stewart's F.P.		1	0		1		Ser	=1/13			
19.1			89	v.	Stenhousemuir	74	01	1		e		4	NOR		6	
1	84.01	4	51	4	TI 00 11	E.C.	25	9		6		24.2		3 . 5	3	
4	5.H. G	ruden	6-50	v.	Carrick Knowe	1	49	4	-	Y			agu	3 .3	3	
2	J.B. M	ichie	5-13	14.	Drum pellier	44	84	TA.		1		a.s.	MAG	4		
	40 H		5-23	v.	Brunswick					1		30	elan	2.0		
	F.O.Th	omas	5-25	J.	Poloe	ę	8	0		1			A.S.		H	
			9-25	٧.	Edin. Univ.		•			2		2140	4.613		4.5	
			5-13	٧.	Drumpellier	ę i	31	0		+		N. A.	A.52			
	AMC. Th	orburn	7-23	۷.	Munayfield		11	di la	-	1	205	- 2.3	10.31	1	2.4	
		×	6-50	۷.	Leith Franklin			1.		1		a sue	1-1-40			
-	-	9	5-41	v.	Mel. Coll. FP.	4	41	0	-	2		40	TU		4	
1			6.39	۷.	Edin . City Police	2	61	G	T	1		21	24	. 14	n.m	
					000	3	3			1 4			AN O			

ROYAL HIGH SCHOOL F.P. 2" XI

	-		ROYAL HIGH SCHOOL F.P.	OPPONENTS	lana dia kina kaominina dia kaominina	and and all the second second second
AFR.27	H	BOROUGHMUIR F.P.	128 10*	75	10	W
MAY L	A	GEORGE HERIOT'S F.P. 2	93 6	107	10*	D
11	A	LEITH FRANKLIN 2	45 7	43	10*	W
18	A	DUNFERMLINE CARNEGIE	54 5	106	10*	D
25	H	WATSONIANS 2	?	76	10*	
JUNEI	H	CORSTORPHINE	51 10*	103	5	12
8						
15	H	SIGHTHILL				OFF
22	A	H.Q. SCOTTISH COMMAND	165 5*	윽.		
29	H	BRUNSWICK 2				OFF
JULY 6	H	MANOR	186 8*	162	5	D
13	Η	COLONIAL	68 10	221	6*	L
20	H	ROYAL HIGH SCHOOL P.P.2	163 9		10*	W
27	H	LEITH FRANKLIN 2	66 10	74	10*	L
AUG. 3	H	CARRICKKNOWE 2	121 10*	94	10	V
10	H	MEADOWBANK	83 3		10*	V
171	H	TELEPHONE HOUSE	128 10*	25	10	WI

P.16 W.9 D.3 L.4

1946